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02-6.5cm

1+6+8+3= 18 which is divisible by 9..
fy G REPLY
Suresh Patro 10 hou

BC= Diameter = 13cm
Radius= 6.5cm

Mohit.. 17 ho

Circumcircle.

1 Triplet.

2 = 6.5 Ccm.
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Find the least number which when divided by 5, 6, 7 and 8 leaves a remainder 3, but
when_divided by 9 leaves no remainder ?
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Length of two chords AB and AC of a circle are 12 cm and 5 cm and £BAC = 90°. F|nd

3 AB 3N AC B TaTS 12 THT 3R 5 TH qUT £ BAC = 90°
HITeg?

the radlus of the C|rcle
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If the numerator of a fraction is increased by 150% and the denominator of a fractlon
increased b 200%, fraction becomes 10/19. Find the fractlon ?
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(81)7+(243)° x (9)** =(3)°




If cot A+ cosec A=3andA s an acute angle, t%en the value of cos A is ?
g cot A+ cosec A=3 AUD Y-
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If the angle of elevation of the sun changes from 30° to 45°, the length of the shadow
of a plllar decreases by 20 metres. The helght of the p|IIar is ?
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1)20(V3—1) m
2)20 (V3 +1) m
3)10 (V3—1) m
4)10(V3+1) m
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Ashokan is thrice as good a workman as Nitin and is therefore able to finish a piece of work in 40
days less than Nitin. Find timg in which they can do it working together ?
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A man can row 5 km/h in still water. If the speed of the current is 1 km/h, it takes 3h more irt
upstream than in the downstream for the same distance. The distance is ?
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The ratio of the length of two trains Xand Y is 4 : 7 and the ratio of the time taken by both 'tFréins
to cross a man standing on a platform is 2 : 3. If the speed of the train X is 36 km/h find the
%Ig[eed of the trainY in m/s ?
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1)35/3 m/s
2)30 m/s
3)20/3 m/s
4)15 m/s




Find the least number which when divided by 6, 7, 8, 9 and 12 leaves the same *
remainder 1 in each case?
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The difference between compound interest and simple interest at the same rate of interest R
percent per annum on an amount of Rs. 15,000 for 2 years is Rs. 96. What is the value of R?
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